| Efficiency vs Dxy |

> 0.0]
<

..........

......................

..........

......................

0

510 15 20

TP dxy (cm)
—=— DQM_Orginal_Step2_tbar-piiase -Mewgeomn
—e— DQM”pixelCPETemplate_step2 ttbar-phasel-newgeom
| Efficiency vs Dz | —— DOM_pixelCPETemplateCutChiSquareNew_step2_ttbar-phasel-newgeom
—+— DOM™pixelCPETemplateCutChiSquareNew?Z_stepZ_ttbar-phasel-newgeom
0.01 —— DQM™pixel CPETemplateCutChiSquareNew3 step2_ttbar-phasel-newgeom
N 0.01F ; T T X
-O : . .
B 00Q -+ g oo
ax r
§.008__ .....................................................................
© C
= e R e
o C
] e
0005_— ---------------------------------------------------------------------

0.004
0.003
0.002
0.001

b

0.8

Ratio

0.6

30
TP dz (cm)



	Contents
	Page 1


